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Class XI Examination, 2020

COMPUTER SCIENCE
( Optional )
PAPER - 111
-1 Hour Full Marks : 40
1w quile : 40

GENERAL INSTRUCTIONS / €T ot .

1.
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Write your Namg, Roll Code, Roll No., Registration No., Faculty and Paper

on the OMR Answer Sheet in the space provided. Put your Full Signature

“on the OMR Answer Shect in the space provided.
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There are 40 Multiple Choice Questions in all.
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All questions arc compulsory. Each question carries 1 mark.
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9.

: . . 4. Choose the
Four options are given for cach question numbered 1 to

. iate circle | e | in
correct oplion and indicaye it by blackening the appropriate circle |

k Ball-Point
the OMR Answer Sheet given Scparatcly. Usc only Blue/Blac

Pen. The uge of Pencil ig not allowed.
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heet to
Bcefore lcaving the cxamination hall hand over the OMR Answer S

the invigilator. Yoy arc allowed to take the question paper v ith you.
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4 Adhere to the instructions above very carefully otherwise y:)t;
OMR Answer Sheet will be invalid and it will not -be evaluated.
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1. The first generation compuler used .......,
(n/ﬁa}cuum tubes (2)
(3  Integrated circuit (4)
et ) 3 e 3 st e % f
(1) AN (2)
(3) %hRs wiwe 4)
2. A nibble is & group of ..o bits
1) s
(3) 16 (4)
FEet ... feei &1 & g %)
(1) 8 | - (2)
3) 16 (4)
3. Raw facls and figures are called
(1)  information (2)
(3) —data (4)
(1) FEEE @
@ @@ ()
4.  Cray X-MP-14 isa
(1)~ Suﬁcr comptitcr | (2)
(3)  Mini computer (4)

“rgn
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....... for internal operation.

Transistors

Nonc of thesc.

20.

loop

none of these.

G
T | F

Micro computer

Main{rame computer.
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Cray X-MP-14 @& ............. f

(1) YR F7gqe (2) TR FIER

(3) {Fﬂ HIZEY (4)  HTRH FE
3. Which of the following is an opcrating system softwarc ?

(1) MS-DOS (2) UNIX

(\j/ Both (1) and (2) (4)  None of these.

Fefefas LR opcrating system software g2

(1) T TH-s™ _ @ gh
(3) (1) 3R (2) A (4) T 4 FE @
6. A language processor that convertls assembly language into machine
languagc is
(1} Interpreter (2) Asscmbler
(SVCompilcr (4 none of these.
eTTelSt G, ST STl dirdet @t 7Y e 3 aftafad s ¢, &
(1) FTEOR (2) A=
(3) FERR (@) TR &I T
7. The complete sequence of binary numbers :
100, 101, 110, ........ Y reiean
| \o |
18

(1) 1171, 101 (2) 111,001

(4) 111, 1000.

(3 7,8
- v
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100, 101, 110, ........ e,

¢

() 111,101 (2) 111,001

3) 7,8 | 4) 111, 1000.
8 92 in hexadecimal is !"’b in dccifnal.

() 146 2) 5C

(3 148 ‘ (4) None of thesc.

ERRfane B 92 Y | ..., .y

(1) 146 | (2) SC

(3) 148 | (4) FH /IR TN
9. ISPROM stands Tor

r,,/ﬂ'f ~ External Programmablc Read Only Memory
(2) Erasablc Programmable Read Only Memory

(3)  Electronic Programmable Read Ohly Mcmory
(4) nonc of thesc.

EPROM 1 R &

(1)  External Programmable Read Only Memory

(2) Erasablc Programmablcl Read Only Memory

(3)  Elcctronic Programmablc Read Only Memory

_(4) 3 E g A

|7040-(11)
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10.  Concentric circle on the magnetizea =

urfacce

known as
(2) scctor

y magneie medin
(31 track (4) optical media.

A fgwn & gafsa am ™ ) T BRI &

(1) pasta aeam (2) EFI

3 %

(4) waifera ST

11. The wrapping up of data and functions together in a singlc unit is called

(1) inheritance };} polymorphism

(3)  cncapsulation (4) none of these.

1 7 G H O W, U e dd A e e €

(1) FeReT (2) GiferoR e

(3)° ARG (4) ¥ R FE T
12. C++ was developed by

(1) Narendra Modi ’;2) Dcnis Ritchic

(3) . Bjarnc Stroustrup (4) Bill Gates.

C++ foaa fawfaa fea 2

(1) 6% 91 2) 3w dfa

(3) TR R @ e

6 of 16
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13.

compuler ?

o,

Application software

X

Utility sofltware

NJACY

Which of the following softwares is designed

XSC-CMS-(Opt.}-8C

~ (2) - System softwarc

(4}  User software.

| 1 % & o sifverea o & wareri @) Frfag a0 & e 22

(1)

(3)

UfeTheM WiTeaay

Foferfs s

(2) fowen doeaaw

(4) IR WA |

14.  The smallést individual unit in a program is known as

(1

D

(3)

ol ST GESTAH A HEEA §

(1)

(3)

(1)

(3)

[ros0-a |

Token

File

G|

HIEA

intcger literal

string literal

e ferete

s

(2) Operator

(4) Data.
(2) WA
(4) Sl

(?/ character literal

(4) bool literal.

(2) S o

(4) T fereet |

Science/Commerce
to control the operation of

7 of 16



XSC-CMS8-{Opt.)-8C
Science/Commerce

16. The ASCII value of 'd ' is

1) /68

(3) 100

‘d' FT ASCII HH &

(1) 68

(3) 100

17.  "REEMA\n" has size

- (1) 8

@3 9

" "REEMA\n" & 915 ¢

(1) 8

3 9

 JACS

(2)

(4)

(2)

(4)

(4)

(2)

(4)

99

nonc of these.

99

= wE e

7

none of thesc.

7

T ¥ FE T

18. }1 C#+, cin and cout are predefined stream

(1)  operator (2)
(3) - object | )
C++ T -cin' T cout gd aRwiva g @

(1) ¥R [;)
(3) deiw (4)

function

nonc of these.

R

| FE A
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Multiple i '
iple usc of Input/output operator in a single statement is called

(1) initialization (2) declaration
(:5). cascading (4) none of these.

Wﬂmﬁﬁﬁ"w/wmﬁmmm%
) B”i'i'q‘”"‘ (2) Hiwom
(3) FuHfen (4) v | FiE T

Syntax error comes when

{1)  rules of a programming language are violated
E}J/ when progfam statements are not meaningful
(3)  when program is not saved

(4) nonc of these.
faoa T 3 €, e

(1) R e & frga @ Ioeled foar S @

(2) Jurg 1w et A &
(3) W™ H e 7 @ T E
(@) T @ FH A

. olds memory address is called

A variable that h

.(ll Array . (2) Class
(3) F‘unction (4) = Pointer.

-

70804131 |

9 of 16



XS8C-CMB-(Opt.)-8C @

Science/Commerce
e At o AR B3 F @A &, e ¢

(1 ® (2)
(3) I @) @l
22. A sct of logical opcrators is
(1). o ] % | @) <>, <= =T =T
B) 8B, i1 @) -
wifviehel STt 1 TF &
(N 4=/ % : 2) < > <= >= 0=, ="
By &, 1, @) -

23. x=++y+2ycvaluatesto (ify=6)

(1) 18 9/21

3) 20 (4) none of these.

x=++y+ 2y WW%(ﬂﬁy=6)
(2) 21

(4) ¥ ¥ BE T

(1) 18

(3) 20

The prefix increment/decrement operators follow the rule

(1)/ change-then-use

(3) save-and-dclete

24.
(2) use-then-change

(4) none of these.

(2) use-then-change

(4) T A HE T

(1) change-then-usc

(3) save-and-delete
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26.

27.
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In C++ cve
. Iy statement ends with Science/Commerce

[1) colon

}2)/ semicolon
() comma
: (4y  dot.
(1) et R : - .
3 .
@) R ' 4) T

In C++ programming strcat () function is used for

(1} = count length of a string (2)  converting string to character

(3) comparing two strings (4) concatenating two strings.

CH+ MWﬁ_strcat()WﬁmﬁﬂT%

(1) Féﬂaﬂaraéméz%fm (2) %ﬂﬁﬁﬂﬁaﬁﬁ%ﬁm

(3) g frm Y qer % (e (4) 2 Rz =t sirg & fert

The while loop evaluates a test expression . ........entry into the loop.

(1)  after | (2) ~ before

(3) same time (4) none of these.

Wwé@mﬁﬁﬂaﬂﬁﬁq?ﬁﬁ ................. Rl B
() ¥ y/qzﬁ
3) ﬁmﬁ | @) TR FE
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28. Which of the following is the correct statement ?
(1) Variable name must start with underscore

}V Variable must have digits

(3)  Variable namc must have white spacc

(4} Keyword cannot be a variable name.

P 3§ R wow @@ d )

(1) <t S srevd SRR & T Y @ T
(2) éﬁwﬁmmaﬁ%

(3) éﬁmm#anrﬁeamz;ﬁngnrasﬂ%

(4) g FIE Aawer A T8 2 wher B

29.  In C++, array index always starts from
o @
3 2 . @) 3.
C++ H, W e gien g B
m o @
3) 2' 4) 3.

30. Jump stalcmcnl(s) is/are

(1) goto (}/ continue

(3) brcaic N (4) all of these.

_ 2 ¢
7040-(11) | | - :
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Jump statement(s) %/%

Moz (2 ~FHA
@ I
(4) @
31. If an ¢ :

n array is declared as int A [6] [6] then how may documents can it
store ?
(m o @ 6
@/36 @) 12
afe fedl 0 @t int A [6] [eléwﬁﬁmﬁmmé.ﬁwﬁmﬁmﬁ“
dfaa @ ?
(. 0 2) 6
(3 36 (4) 12.

art ?

Where does the exccution of the program st

(1) user-defined function Main-f unction

(4) none of thesc.

32.

(3) void function
it ) Foel s a1 A o A 7
(2) & FRE

(¢ qﬂiqﬁﬂlﬁﬂﬂwﬁ

(3)

arag HaeH @) @ FE R

le belongs 1o the function islower (>

33. Which header fi
(2) string.h

(1) H math.h

4 < e
ciype-h | y conio.h.

(3)

lm-llll l
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(1) math.h (2) string.h

(3) clypce.h (4) conio.h.

34.  The logical sequence of step by step solution for a given problem is called

(1) Algorithm ‘ (2) _ Flow chart
—
(3) Normalization (4) Nonc of thesc.

Wmﬁmm*mmaﬂﬁmm%
(1) Temiies (2) R
(3)  ARFTEA (4) T @ &
35. Loading thc operating system file into main memory is called
(1~ looping (2) locking
(3) booting : (4) - filing.

gt faen wiee 1 0 AOR) | yaTfed HEAT Fwerdl &

(1) e | (g e
(3l. gfe (4) e

| 36. The pointing device among the following is
(1)  keyword - (/Sarcode reader

(3) Jjoystick (4)  touch screen.



Bt 0 g fSamgy )

(1)

(3)

37, The by

(1)

g

Wiy g

Control unft

Bl/CPU

FGY & gRdss ¥
(1) &3 gfe
(3) CPU -

38.  (B2F),, =(?),

(1)
3,

5352

5754

[BzF) 16 = { ? )3

(1)

(3)

}

(L
(2)
(3)

(4)

:7040411!|

5352

5754

39, DBMS stands for

mn of the computer is the

Y IAC

(2)

(4)

(2)

(4)

(2)

(4)

(2)
(4)

(4)

Database Management System

Data Manipulation

Database¢ Multi

None of these.

ple System

XSC-CM8-{Opt.}-SC
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CIICACIRIe]

¥ &P

ALU

All of these.

ALU

= avdh

5457

None of these.

5457

= q Fig T
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(1) Database Management System
(2) Data Manipulation Systecm

(3)  Databasc Multiple System
(4) 399 | FF T
40. 2's complcment of a binary number is calculated by

((J—)/"‘"adding 2 to its 1's complement
(2) adding 1 (o its 1's complement
(3)  subtracting 1 from its 1's complement

(4) none of these.

HFRT T F 2's complerﬁent Cal ﬂT:mr & S €
(1) 2% su% 1's complement d AgH

(2) 1% 38F 1's complement T SIgH

@3) 1@ 314%-1'5 complement & TTTE

(4) T QB T

+
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